GEOGRAPHY TERM 6 YEAR 10 HOME LEARNING LESSON 5


Choose one quiz, either A or B and answer a range of exam questions that add up to 18 marks in total. For example 3x 6markers or 1x9marker + 1x 6 marker + 3marker.

QUIZ A: 
a. The UK is linked with the wider world through the Commonwealth, EU and trade. The commonwealth is….
b. State the number of countries in the commonwealth.
c. What values do countries within the Commonwealth share?
d. The UK is also linked through its membership in the EU. This is….
e. In what year did the UK join the EU?
f. An example of a modern industry in the UK is……
g. Identify one way car manufacturing harms the environment.
h. Identify one way the use of cars (driving) harms the environment.
i. Identify one way the disposal of cars harms the environment.
j. Identify one way car manufacturing can be more sustainable?
k. Identify one way the use of cars (driving) can be more sustainable?
l. Identify one way the disposal of cars can be more sustainable?
m. When was the End of Life Vehicle regulation implemented?
n. What is the name of Nissan’s hybrid car?
o. Why do hybrid cars cause less environmental damage than petrol or diesel cars?

PRACTICE EXAM QUESTIONS
1. Study Figure 8, a photograph showing a modern industrial development. Using Figure 8 to help you, explain how modern industrial developments can be made more environmentally sustainable. (4 marks)
2. Using an example you have studied, describe how modern industries within the UK can impact on the environment. (6 marks)
3. Assess the extent to which modern industries have negative environmental impacts. Use an example you have studied. (6) 
4. The UK is one of the most connected countries in the world. Use evidence to support this statement. (6 marks)
5. Assess the extent to which UK’s international links provide social and economic benefits? (9 marks)
6. Until recently, the UK was a member of the EU. 
a. How did this provide social and economic benefits for the UK? (6 marks)
b. Suggest one negative impact of being a member in this trade group. (2 mark)
Figure 8
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EXAMPLE OF A MODERN INDUSTRY: NISSAN

The car industry is one of the few large-scale manufacturing industries leftin the UK. More than 1.5 million new cars
are made in the UK every year (Nissan, Honda, BMW).

How does the car industry harm the environment?

THENORTH—SOUTH DIVIDE

The cultural and economic differences between the north and south of England.

Manufacturing

* Carsare made from steel, rubber, glass, plastic...etc. Making these uses energy = pollution.
* To manufacture a car, it uses a huge amount of energy. To generate this energy, it produces
a large amount of pollution.

Lifetime

Most cars run on petrol or diesel. Both are made from oil
« Drilling and transporting ol can result in il spills
« Using petrol or diesel in cars causes air pollution (carbon dioxide & nitrogen dioxide).

Cars usually end up on the scrapheap. Acid in the car batteries can leak into the ground and
harm ecosystems.

How canthe car indt

justry be moresustainable?

Manufacturing

The 2003 Government's ‘End of Life Veehicle regulation requires manufacturers to recycle
parts = less new materials need to be made = less energy used.

Lifetime

Electric and hybrid cars have been developed (e.g. Nissan Leaf) that use electricity to power
the car till 30mph and then petrol/diesel after = less pollution. Alsothey are lighter and so
burn less fuel when driving.

The 2003 Government's ‘End of Life Veehicle regulation requires manufacturers to take back
vehicles that are at the end of their life and dispose of them inan environmentally friendly
and safe way. As a result less waste goes to the landfill

- —
HOW IS THE UK LINKED WITHTHE WIDER WORLD?

+ North: lower standard of living, shorter life expectancy, less jobs,
Examples of lower wages, lower house prices
the north —
south divide | * South: higher standard of living, longer life expectancy, more jobs,
higher wages, higher house prices.
‘ + Lack of employment in the north due to de-industrialisation. There
were more factories and coal fields in the north. When these closed
Why does
e e down = unemployment.
s + More jobs & higher wages in the south due to the creation of a post
industrial economy. Tertiary jobs, with high wages are in urban
l areas = more urban areas in the south.
* Better transportation to connect north with south and wider world
Howare (HS2, new ports, smart motorways) = better links for businesses.
they * Investment from government and EU to improve businesses (e.g.
reducing Nissan opened car manufacturing plant near Newcastle in 1984).
+ Local Enterprise Partnerships (LEPs) are created to help local
the divide?
businesses succeed = boost local economy. This will create new
‘ jobs, improve infrastructure and develop area)

Commonwealth | The British Empire once covered 1/3% of the world. During the late 20t European
century, most countries gained independence = the creation of the Union
COMMONWEALTH: a group of 53 countries, including India and Canada.
How does this +  Countries meet every 2 years to discuss current issues.
linkthe UK with * The UK trades with other Commonwealth countries. How does
the wider « Many people of British descent now live in Australia and Canada. this affect
world? +  The Commonwealth Games is held every 4 years. the UK?
« Al countries share common values, such as democracy and human rights.
Transport « Airports connect the UK with many countries: Canada, USA, South Africa,
Singapore and India.
= The Channel Tunnel is a railway line that connects the UK & mainland
Europe. Trade
withinthe
Communication | Theinternet is the biggest contributor to the UK connecting with other EU
countries. It has had a huge impact on businesses and our economy.
> In2013, on average 183 billion e-mails were sent and received each
day. Thisis 2.1 million every second.
> In2014 90% of people in the UK used the internet, compared to just
27%in 2000.

In 1973 the UK joined the European Union. The EU allows the free movement of people,
goods and services between the member countries. It is an important trading group with
a total of 28 countries, such as France, Italy, Spain, Germany and Belgium.

1. Financial support for farmers. In 2015, £18 million was used to support dairy
farmers in the UK.

2. Since the early 20 century, 10 Eastern European countries have joined the EU.
Since, many people from these countries have migrated to the UK looking for
better paid work.

3. The UK support poorer members by paying more money into the EU.

Most of the UK's trading partners are within the EU. This is because:
»The UK is part of the EU, which encourages trade between EU countries.
#EU countries are closer to the UK and therefore it's easy to transport goods
»European countries are wealthy, which means they can afford more expensive
goods.

The top countries the UK exports to: USA, Germany, Netherlands, France, Switzerland
The top countries the UK imports from: USA, Germany, Netherlands, France and China.





